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CIE02 spectral tristimulus values y−max(λ)=1
x−02,1(λ)=A11l

−
02,1(λ)+A12m

−
02,1(λ)+A13s

−
02,1(λ)

A1j 1,9101 −1,1121 0,2019 (λ~570)
P00: Σx−02,1(λ)=22,01

x02,1=0,3604 y02,1=0,3531

CEN21−2A_P00

wavelength λ /nm
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CIE02 spectral tristimulus values y−max(λ)=1
y−02,1(λ)=A21l

−
02,1(λ)+A22m

−
02,1(λ)+A23s

−
02,1(λ)

A2j 0,3709 0,6290 −0,000 (λ~545)
P00: Σy−02,1(λ)=21,57

x02,1=0,3604 y02,1=0,3531

CEN21−3A_P00

wavelength λ /nm
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CIE02 spectral tristimulus values y−max(λ)=1
z−02,1(λ)=A31l

−
02,1(λ)+A32m

−
02,1(λ)+A33s

−
02,1(λ)

A3j 0,000 0,000 1,000 (λ~445)
P00: Σz−02,1(λ)=17,48

x02,1=0,3604 y02,1=0,3531

CEN21−4A_P00

wavelength λ /nm
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CIE02 spectral tristimulus values Ysum=100
x−02,s(λ)=A11l

−
02,s(λ)+A12m

−
02,s(λ)+A13s

−
02,s(λ)

A1j 1,9101 −1,1121 0,2019 (λ~570)
P00: Σx−02,s(λ)=102,06

x02,s=0,3604 y02,s=0,3531

CEN21−5A_P00

wavelength λ /nm
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CIE02 spectral tristimulus values Ysum=100
y−02,s(λ)=A21l

−
02,s(λ)+A22m

−
02,s(λ)+A23s

−
02,s(λ)

A2j 0,3709 0,6290 −0,000 (λ~545)
P00: Σy−02,s(λ)=100,00

x02,s=0,3604 y02,s=0,3531

CEN21−6A_P00

wavelength λ /nm
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CIE02 spectral tristimulus values Ysum=100
z−02,s(λ)=A31l

−
02,s(λ)+A32m

−
02,s(λ)+A33s

−
02,s(λ)

A3j 0,000 0,000 1,000 (λ~445)
P00: Σz−02,s(λ)=81,06

x02,s=0,3604 y02,s=0,3531

CEN21−7A_P00

wavelength λ /nm
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P00

0,0

   

1,0

   

2,0

CIE02 spectral tristimulus values y−max(λ)=1
y−02,1(λ)=A21l

−
02,1(λ)+A22m

−
02,1(λ)+A23s

−
02,1(λ)

A2j 0,3709 0,6290 −0,000 (λ~545)
P00: Σy−02,1(λ)=21,57

x02,1=0,3604 y02,1=0,3531

LVM LVM LVM

y−0=y−02,1(λ)
y−1=A21l

−
02,1(λ)

y−2=A22m
−

02,1(λ)

CEN21−8A_P00

wavelength λ /nm
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CIE02 spectral tristimulus values y−max(λ)=1
y−02,1(λ)=A21l

−
02,1(λ)+A22m

−
02,1(λ)+A23s

−
02,1(λ)

A2j 0,3709 0,6290 −0,000 (λ~545)
P00: Σy−02,1(λ)=21,57

x02,1=0,3604 y02,1=0,3531

LVM

y−0=y−02,1(λ)
y−1=A21l

−
02,1(λ)

y−2=A22m
−

02,1(λ)

y−3=ay−2−by−1
y−4=by−1−ay−2

a=y−02,1(λa)/m−02,1(λa)
b=y−02,1(λa)/l

−
02,1(λa)

Adaptation:
λa=570nm


